
21.4 Calculating the Electric Potential and 21.3 Conservation of Energy

Plan Calculate SU then sV Fo
we will consider 2 basic settings the
parallel plate capacitor and a point charge
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Problem Consider two squareplates loom on

a side separated by a distanceof 5mm
Imagine a proton is released from rest at the
plate How quickly is it movingwhen
it reaches the plate
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Wayf Conservation of Energy
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This suggests SV Ed inthis
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only the difference matters

so For the parallelplate
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E points from high V to low V

So how to solve theproblem
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Summon for parallelplate
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what if you have an electron
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Next Calculating SV for apointcharge
e g have a test change go near a point
charge Q

t vg

If you releaseg from rest it will berepelled from Q The electric face
will do work and give the particle
kinetic energy at Rf

See examples Ch21-Energy-2 and Ch21-Energy-3.



Howmuch work Not just F D ofEd
since the force is not constant
Result for a point charge Q
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Superposition
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See Ch21 superposition l pdt


